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PRESIDENCY UNIVERSITY
BENGALURU

SCHOOL OF ENGINEERING

TEST 1
Sem & AY: Odd Sem. 2019-20 Date: 27.09.2016
Course Code: CIV 209 ' Time: 2:30PM to 3:30PM
Course Name: STRUCTURAL ANALYSIS - {! Max Marks: 40
Program & Sem: B. TECH (CIV) & V Weightage: 20%

Instructions:
(i) Write legibly and draw clear diagrams wherever required.
(if) Diagrams to be drawing using a pencil and scale only. Pen diagrams
will be penalized.
(i) Scientific and non-programmable calculators are permitted.

Part A [Memory Recall Questions]

Answer the Question. The Question carries ten marks (1Qx10M=10M)

1. Recall the Fixed End Moments for the beams shown in figures 1 & 2 below:

20 kN P 25 kN/m
3 | ’ /
A ™~ ~ B b. A 3’/ /ﬂ\/~\f{‘\‘/‘\\x/\\f/—.\£ B
j 3m 3m
6m
Figure 1 Figure 2
[5+5M]

(C.0.NO.1) [Knowledge]
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Part B [Thought Provoking Questions]

Answer the Question. The Question carries fifteen marks. (1Qx15M=15M)

2. A beam is to be provided for a house. The load on the beam is shown in figure 3.
Solve the given continuous beam by slope deflection method. Draw the Bending

Moment Diagram (BMD) and Shear Force Diagram (SFD).
(C.O.NO.1) [Application]

60 kN 20 kN/m 30 ki
~ | /- ' 3 N
q % f/'/ % 1\
S . !
A i NN TN T ! .
! N
% 2m Im 5m i 3m Im {\
™, o,
8 C
Figure 3

Part C [Problem Solving Questions]

Answer the Question. The Question carries fifteen marks. {1Qx15M=15M)

3. Solve the given frame shown in figure 4 by slope deflection method. Draw the
Bending Moment Diagram (BMD). (C.0.NO.1) [Application]

40kN  40kN

]

B 2m | 2m 1 2m ¢

21
4m
4m
STTETE ATTEES
A D
Figure 4
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SCHOOL OF ENGINEERING

Semester 5"
Course Code: ClV 209 Time: 1 hr 30 mins

Course Name: Structural Analysis — 11 Max Marks. 40
Branch & Sem: Civil, 5" Weightage: 20%

Date: 27 September 2019

Extract of question distribution [outcome wise & level wise]

I — el S —
! : Memory recall | Thought
| | type | provoking type |
Unit/Module P ? P 3P : Problem Solving | Total
i Number/Unit ~ [Marks allotted]| [Marks allotted] | type Marks
- Q.NO  C.O.NO | |
L | /Module Title © Bloom's Levels; Bloom's Levels | [Marks allotted]
| 3 K ¢ A
1 COT Modue-1 5 5 | ] | 10
2 Co1 WModue—1 T n s 15
' | NN S S S S DU NN N NN N
3 [COT [Modue—1 | s s
« | ‘ ; ; ‘ ? |
L T e R B : I ‘}fw e
; ; I ; i
| L e
' Total | 5 |5 o 30 | 140
Marks | o ] | ‘ |

K =Knowiedge Level C = Cocmprehension Level, A = Application Level







Note: While setting all types of questions the general guideline is that about 60%

Of the questions must be such that even a below average students must be able to
attempt, About 20% of the questions must be such that only above average students must
be able to attempt and finally 20% of the questions must be such that only the bright

students must be able to attempt.

[l hereby certify that All the questions are set as per the above guide lines. Dr. S B

Anadinni ]

Reviewers Comments

Annexure- 1I: Format of Aaswer Scheme

~>  SCHOOL OF ENGINEERING

Semester 5™
Course Code: CiV 209

Course Name. Structural Analysis - 1
Branch & Sem: Civil, 5"

SOLUTION

Date: 27 September 2019
Time: 1 hr 30 mins

Max Marks 40
Weightage: 20%
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mﬁ: PRESIDENCY UNIVERSITY
BENGALURU
SCHOOL OF ENGINEERING
TEST -2
Sem & AY: Odd Sem 2019-20 Date: 16.11.2019
Course Code: ClV 209 Time: 2:30 PM to 4:00 PM
Course Name: STRUCTURAL ANALYSIS - I Max Marks: 40
Program & Sem: B. TECH (CIV) &V Weightage: 20%

Instructions:

(i) Write legibly and draw clear diagrams wherever required.

(ii) Diagrams to be drawing using a pencil and scale only. Pen diagrams
will be penalized.

(i) Scientific and non-programmable calculators are permitted.

Answer all the Questions. Each Question carries two marks.

L

Part A [Memory Recall Questions]
(5Qx2M=10M)

In moment distribution method, the relative stiffness for a beam with a far end fixed

support is
/L b. VE
31/4L d. AEI/L

(C.0.NO.2) [Knowledge]
The fixed end moment for a fixed beam with central point load is

WL/16 b. WL/M12
WL2/12 d. WL/8

(C.0.NO.2) [Knowledge]
In moment distribution method, the relative stiffness for-a beam with an overhang
is
I/L b. IVE
3l/4L d O

(C.O.NO.2) [Knowledge]
In moment distribution method, the moment shared with the continuous or fixed

support is
100% b. 25%
50% d. 75%

(C.0.NO.2) [Knowledge]
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In moment distribution method, the relative stiffness for a beam with a far end

> pinned support is
a. IL b. VE
c. 3l/4aL d. AEIL
(C.0.NO.2) [Knowledge]
Part B [Thought Provoking Questions]
Answer the Question. The Question carry fifteen marks. (1Qx15M=15M)

6. A beam is to be provided for a house. The load on the beam is shown in figure 1.

Solve the given continuous beam by moment distribution method. Draw the Bending
Moment Diagram (BMD) and Shear Force Diagram (SFD). El is constant

80 kN 20 kN/m 60 kN
: /
/
A 3 l P /"\/‘Q’“w‘vﬁ 1 (C.0.NO.2)
\q 2m 4m ’ 6m [ 25m 2.5m I D  [Application]
8 C
Figure 1

Part C [Problem Solving Questions]

Answer the Question. The Question carry fifteen marks. (1Qx15M=15M)

7. Solve the given frame shown in figure 2 by moment distribution method. Draw the
Bending Moment Diagram (BMD).

80 kN

(C.O.NO.2)

. [Application]

Figure 2
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SCHOOL OF ENGINEERING

A iy

GAIN MORE KNOWLEDGE
REACH GREATER HEIGHTS

Semester: 5%
Course Code: CiV 209

Course Name: Structural Analysis — II
Branch & Sem: Civil, & 5"

Date: 16 November 2019

Time: 1 hr 30 mins
Max Marks: 40
Weightage: 20%

Extract of question distribution [outcome wise & level wise]

Memory recall Thought
Unit/Module type provoking type | Problem Solving | Total
Q.NO | C.O.NO| Number/Unit | [Marks allotted]| [Marks allotted] type Marks
(Yoage | /Module Title | Bloom'’s Levels| Bloom's Levels | [Marks allotted]
of CO)
K C A
1 CO2 Module - 2 2 2
2 CO2 Module — 2 2 2
3 CO2 Module — 2 2 2
4 CO2 Module — 2 2 2
5 CO2 Module — 2 2 2
6 CcO2 Module - 2 15 15
7 0) Module - 2 15 15
Total 10 30 40
Marks

K =Knowledge Level C = Comprehension Level, A = Application Level

Note: While setting all types of questions the general guideline is that about 60% of the
questions must be such that even a below average students must be able to attempt,
about 20% of the questions must be such that only above average students must be able
to attempt and finally 20% of the questions must be such that only the bright students
must be able to attempt.

I'hereby certify that all the questions are set as per the above guidelines. [Name of faculty]

Reviewer's Comments:







Annexure- II: Format of Answer Scheme

SCHOOL OF ENGINEERING

.~
g
——g—

SOLUTION

GAIN MORE XNOWLEDGE
REACH GREATER HEIGNTS

Semester: 5™
Course Code: ClV 209

Course Name: Structural Analysis — I
Branch & Sem: Civil, & 5"

Date: 16 November 2019
Time: 1 hr 30 mins

Max Marks: 40
Weightage: 20%

Part A (5Q x 2M = 10 Marks)
QNo Scheme of | Max. Time
Solution Marking | required for
each Question
1 A 2 marks 2 mins
2 A 2 marks 2 mins
3 |D 2 marks 2 mins
4 A 2 marks 2 mins
5 C 2 marks 2 mins
Part B (1Q x 15M = 15 Marks)
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Solution Marking required for
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Part C (1Q x 15M = 15 Marks)
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AN MORE KNOWLEDGE PRESIDENCY UNIVERSITY
" | BENGALURU
SCHOOL OF ENGINEERING
END TERM FINAL EXAMINATION
Semester: Odd Semester: 2019 - 20 Date: 23 December 2019
Course Code: CIV 209 Time: 9:30 AM to 12:30 PM
Course Name: STRUCTURAL ANALYSIS - i Max Marks: 80
Program & Sem: B.Tech (CIV) & V Weightage: 40%

Instructions:

(i) Read the all questions carefully and answer accordingly.

(i) Write legibly and draw clear diagrams wherever required.

(i) Diagrams to be drawing using a pencil and scale only. Pen diagrams will be penalized.
(iv) Scientific and non-programmable calculators are permitted.

Part A [Memory Recall Questions]

Answer the following question. The question carries 10 marks. (1Qx10M=10M)
1. Calculate the fixed moment for the beams shown in figures 1 to 5. [5Q*2M=10M]
100 kN 150 kN
j 2m 2m k j 2m 4m t
Figure 1 Figure 2

20 kN/m 60kN 40 kN

B

A

&m 2m 2m Zm

. . %f\f\f”\ﬁ\”\f\f’\g 5 Iv. % \ l E
Figure 3 . Figure 4

175k 30kN/m
e

/
V. A af’\/’\f\! { /\/f'w B
d 3m 3m k

l, |
i bm |

Figure 5
(C.O.No.1, C.O.No.2, C.0.No.3, C.O.No.4) [Knowledge]
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Part B [Thought Provoking Questions]
Answer both the Questions. Each Question carries 15 marks. (2Qx15M=30M)

2. A beam is subjected to various loading on a project by an engineer. The loading is as
shown in figure 6. Analyse the beam using slope deflection method and draw the bending

moment diagram and shear force diagram. (C.O.No.1) [Application]
/I ;
A N VYT
J Zm Im ] 5m {
’ I 21
Figure 6

3. A beam is to be erected in the auditorium. The details of the loading and support conditions
of beam are shown in figure 7. Analyse the beam using Kani's Method and draw the Shear

Force Diagram and Bending Moment Diagram. (C.0O.No.3) [Application]
80 kN 60 kN 25 kN/m
3 | LAk
Zm 4m [ 2.5m 2.5m [ 5m >
B C D
Figure 7

Part C [Problem Solving Questions]

Answer both the Questions. Each Question carries 20 marks. (2Qx20M=40M™)
4. Analyse the frame shown in figure 8 by Kani’'s Method and draw the bending moment
diagram. (C.0O.No.3) [Application]

30 kN/m

C
B’\NE!WV”W
om

4m Am

LTEETT ST TT

Figure 8
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5. Analyse the beam shown in figure 9 by either flexibility matrix or stiffness matrix method
and draw the shear force diagram and bending moment diagram. (C.O.NO. 4) [Application]

20kN/m
: S0 kN
, / | |
A :J/\/\’"\f!\m B ¢
5m 25m 2.5m [

Figure 9
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g SCHOOL OF ENGINEERING

A g,

GRIN MORE KNOWLEDGE
REACH GBEATER NEWHTS

END TERM FINAL EXAMINATION

Extract of question distribution [outcome wise & level wise]

Memory recall Thought
Q.NO | C.O.NO| Unit/Module type provoking type | Problem Solving | Total
(% age | Number/Unit [Marks allotted]| [Marks allotted] type Marks
of CO) | /Module Title | Bloom’s Levels| Bloom’s Levels | [Marks allotted]
K C A
1 CO 1, MODULE 1 10 10
CO 2, MODULE 2
CO 3, MODULE 3
CO4 MODULE 4
2 CO 1 MODULE 1 15 15
3 CO3 MODULE 3 15 15
4 CO3 MODULE 3 20 20
5 CO4 MODULE 4 20 20
Total Marks 10 70 80

K =Knowledge Level C = Comprehension Level, A = Application Level
Note: While setting all types of questions the general guideline is that about 60%

Of the questions must be such that even a below average students must be able to
attempt, About 20% of the questions must be such that only above average students
must be able to attempt and finally 20% of the questions must be such that only the
bright students must be able to attempt.

| hereby certify that all the questions are set as per the above guidelines.

Faculty Signaturezw

Reviewer Commend:

Format of Answer Scheme




Q@f’t SCHOOL OF ENGINEERING
p—,
SOLUTION
Semester: Odd Sem. 2019-20 Date: 23.12.2019
Course Code: CIV 209 Time: 9:30AM to 12:30AM
Max Marks: 80

Course Name: STRUCTURAL ANALYSIS -1i

Program & Sem: B.TECH & 5™

Weightage: 40%

(1Q x 10M = 10Marks)
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